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for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
woro AR et SR S fa

(a) “"My consciousness is the means of revealing J
myself as something existing.”” State the "‘
typical phrase used by Descartes to express il
the statement.
“OIR oI} (R0 G SiEeE el B (e
PP PR AW 1T (SICO IR ¥4 Row »-
AR A SR ST 90 |

(b) Does Descartes believe that the existence of
- the self can be known with certainty?
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(c)

(d)

(e)

(1)

(g)

(h)

8A/119

(2)

Name the philosopher who is known as a
typical dualist,

Rewrsica taeail e @vieel 4 T
I fe o

What is the essential characteristic of matter
according to Descartes?

(THIOF WCO IS STSIRHTPR B¢ 2

Name the philosopher who made the
following statement :

“Human mind at birth is essentially a tabula
rasa.’

wote il SfeE @ wreice CpiReT 2

“TNT TS TR Tl e o@F’ (tabula
rasa) 7 (2 AT |

Leibniz conceived substance as a centre of
force. What is the nature of this force?

forfaes o T ?iC‘i"ﬂ\W (force) (T 1 %
&g Tl 2

What is a ‘monad’?
T (oo oY) FTE Q1 ?

What is the fundamental weakness of
Spinoza’s pantheistic phllosophy?

et st e = e o
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(3 )

(i) What are the two attributes of substance
according to Spinoza which the human mind
can know?

oA 0o Te2 SR 2[R T @ 761 1 < 2

(i) Descartes/ Spinoza/Leibniz was branded as
a hideous atheist. '

(Find out the correct answer)

cw’é/ﬁ“ﬂm/ﬁﬂﬁﬁ T o 0O ARE o1
wfefRe 1 el
_(mmaﬁ@ﬁm)

2. Give short sriswets torthe following:  ~  2x5=10
TS AR oY S fi - o
‘(a) Whatis panthelsm? :
s Ry
~ (b) Whatis a ‘sleeping monad’? Why is it called ,

so‘7 ;
- R e e e
277

(c) What is ‘universal mathematics’? Explain its
- meaning with reference to Descartes. .

SR o’ 5 7 (TI6T 2P TR =L T
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(4)

(d) What do you mean by the term
‘Natura-Naturata’?

‘Natura-Naturata’ Jfeicel i @12

(e) In what sense monads are called
‘windowless’? Explain.

for PR ‘REIRRT o1 59 @@ =7
SIS ‘

3. Answer any four of the following : 5x4=20
wore A< R e vif<oi Tes ferqr ;-

(a) State the four rules laid down by Descartes as
- part of his method of philosophizing with a

brief explanation. 4+1=5
TS Tafed S f=2Ieel CTHICH SRRl fAaw
SIfRGT 5 TR (1C0 S 1 |

(b) What is the nature of Descartes’ doubt?
Distinguish it from psychological doubt. 1+4=5

GG (0€ T orfos M SrEY 9
MR’ 2P 7 (IO TR IF TG
SR’ Y TS “12F g 91 | '

(c) What are the two independent substances
according to Descartes? Why there cannot be
areal relation between the two? What are the
two analogies used by Descartes to explain
the relation between them? 1+2+2=5
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(5)

(R4 T Y51 797 TR TN Sga 41 | SRR
TGS @I 245 9% 39 7 (RIS 7 9] 01
AR TGS 491 TF G FRE AR IO
a4 391 o o1 [ 6 2

(d) Explain Spinoza’s statement that ‘every
determination is a negation’?

‘Every determination is a negation’
(FrfermE O 2a F5RReAT) FPoamR
& 41 4% SfRECo T 90|

(e) What is the meaning of causa suias applied to
God in Spinoza’s philosophical system? Why
did Spinoza denied the concept of a “creator
God’? 3+2=5

PR Ao FNR oFae die 91 causa
sui ¥ = B as Sigee’ A
SR (R PSR [ SRR SRR ?

() Write a short note on the different categorics
of monad as laid down by Leibniz. Why is
God called the ‘actus purus’? 3+2=5

.ﬁaﬁz@%mﬂwﬁammﬁﬁm
Wﬂmmlmﬁﬂﬁﬁm actus
~ purus {ﬁ@%&—@m?
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(6)

4. Explain critically cogito ergo sum as found in
‘Descartes’ philosophy. 10
(GF0I TS ([l cogito ergo sum F=F G
STICETOTSIR IRIT S{I9RCHIET |
Or / 731

What is cogito ergo sum? Explain the importance
of the cogito in Cartesian philosophy.

Cogito ergo sum 157 (SF07 o cogito § ¥<F9.
RIEIES SN

5. Explain Descartes’ method of philosophizing. Do
you think it to be perfect method of phﬂosophy"

6+4=10
CEICS SoRCETaT TRE SEPRIR 5 el
SRCERT | IR RSP ™ M @chfwﬁ?ﬁf
SRIA?
Or / 1331
Give a critical account of Descartes’ views on the
relation between mind and body. 10

m(w)w*@w*w COIICH RGN HAT GF
SAICEATBATIE I SISO |

6. Explain the doctrine of attrlbutes and modes after

Spinoza. Do you think he was successful in
explaining the world? : 10

SA/ 1 19 5 : ( Continued )



R @ o w6 (attributes and modes)
TR SECOR G 0T SISRCGRT | G0 =01 T
CFaS Pefeetren e (aer 9/ SR 2

Or / «I=A1
Give a brief account of monistic philosophy of
Spinoza. Explain why Spinoza’s philosophy is said
to be pantheistic?

PETaR qFe i TR 9 B 9 SeReeT |
PecTar e /B SRR 3@ e 2 R
391 |

7. Explain the doctrine of pre-established harmony
of Leibniz. 10
frfAcE SRRl G5ed [{-Si’EFe *@E TR
TSIMCO! T |
Or / T

Critically explain Leibniz’s theory of monads.
frficy SeRER B /A 9 O9oR 9
SICEToARE AR SI5RCRT |
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